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The statement that describes qualitative research?

Involves the collection and analysis of objective data.

The research design is systematic and subjective.

Data is collected from a large number of subjects.

Data collected tends to be numeric.

None of the above



Question Description DPT booster vaccine is given by route:

A Intradermal

B Subcutaneous

c Intramuscular

D Oral

E None of the above
Correct Answer Cc

Marks 1

Question Description Which site is to be used for IM injection in an infant?
A Dorsogluteal

B Ventrogluteal

c Deltoid

D Vastuslateralis

E None of the above
Correct Answer D

Marks 1



Question Description Inflammation of is called as keratitis.

A Cornea

B Retina

c Eyelids

D Ear lobule

E None of the above

Correct Answer A

Marks 1

Question Description When conducting a literature review, it is advisable to:
A Seek most of the information from internet
B Gather literature from books

c Gather literature from journals

D Seek assistance from seniors

E None of the above

Correct Answer C

Marks 1



Question Description Which statement describes the term review of literature?

A Provides raw information and first-hand evidence.

B Are descriptions of studies prepared by someone other than the original researcher.
c Is a survey of scholarly sources on a specific topic to help provide an overview of current knowledge.
D Is a report of an original study.

E None of the above

Correct Answer C

Marks 1

Question Description BCG is vaccine.

A Killed

B Inactivted

c Live attenuated

D Killed activated

E None of the above

Correct Answer C

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which of the following investigations is specifically related to sleep disorders:

Computerised tomography

EKG

Polysomnography

PET scanning

None of the above

C
1

Which statement is true in patients with masked hypertension?

Have elevated BP only in the clinic with non elevated non-clinic (ambulatory or home) BP.

Have elevated BP in the clinic and elevated non-clinic (ambulatory or home) BP.

Are at similar risk of cardiovascular events as sustained hypertensives.

Are not associated with renal complications and do not require drug treatment.

None of the above

C
1



10 Question Description For which of the research questions would qualitative methods be most appropriate?

A Which pain medications decrease the need for sleep medication in elderly patients?
B What is the meaning of health for migrant farm workers?
c Under what conditions does a decubitus ulcer heal most quickly?
D How does frequency of medication administration impact the degree of pain experienced following knee replacement surgery?
E None of the above
Correct Answer B
Marks 1
1 Question Description Vital health statistics isa___
A record of birth, death and diseases
B record of vital characters
c record of vital health events
D record of only health emergencies
E None of the above
Correct Answer A

Marks 1



12 Question Description HQ of International Council of Nurses (ICN) is at:

A London
B New York
c Geneva
D Delhi
E None of the above
Correct Answer C
Marks 1
13 Question Description Which statement made by the tutor when communicating to a nursing student is an example of effective feedback?
A “Why did you share the client’s information with his family?”
B “You were very careless to share the client’s information with his family. “
c “I believe you didn’t do this deliberately, but you breached confidentiality by sharing the client’s information with his family.”
D “It is disappointing that after being told, you still shared client’s information with his family.”
E None of the above
Correct Answer C

Marks 1



14" Question Description The nurse determines that the5-month-old infant being assessed has attained the highest level of language maturity if the infant

A Uses simple words such as “mama”.
B Uses monosyllabic babbling.
c Links syllables together.
D Coos when comforted.
E None of the above
Correct Answer C
Marks 1

15 Question Description Which sentence is incorrect:
A Interpersonal communication is inescapable.
B Interpersonal communication is reversible.
c Interpersonal communication is complicated.
D Interpersonal communication is contexual.
E None of the above
Correct Answer B

Marks 1



16 Question Description Omphalitis is infection of

A Ovary
B Cervix
c Umbilicus
D Uterus
E None of the above
Correct Answer C
Marks 1

17" Question Description Which disease are the Somogyi effect and dawn phenomena associated with?
A Hyperthyroidism
B Diabetes mellitus
c Hypoparathyroidism
D Addison’s disease
E None of the above
Correct Answer B

Marks 1



18 Question Description Mission Indradhanush is a flagship programme of the Ministry of Health and Family Welfare with strategies to improve

A Immunization services
B Nutritional services
c Screening services
D Rehabilitation services
E None of the above
Correct Answer A
Marks 1
19 Question Description Home-based pregnancy tests are based on the presence of this hormone in the urine.
A Oxytocin
B Estrogen
c Progesterone
D Human chorionic gonadotropin
E None of the above
Correct Answer D

Marks 1



20 Question Description Which is the antidote for heparin......

A Thromboplastin
B Vitamin K
c Protamine sulphate
D Pentazocine
E None of the above
Correct Answer C
Marks 1
21 Question Description Which of the signs indicate that the toddler is NOT yet ready to be toilet trained?
A Does not insist on having his soiled diaper changed.
B The number of diapers being changed decrease.
c The toddler has regular, predictable bowel movements.
D The toddler announces his bowel movements.
E None of the above
Correct Answer A

Marks 1



22 Question Description The most objective means of obtaining nursing knowledge is through:

A Trial and error methods
B Traditional ways
c Authorities
D Scientific research
E None of the above
Correct Answer D
Marks 1
23 Question Description A woman is at the antenatal clinic for her second prenatal visit. Of the numerous complaints she has, which would require referral to
the District Hospital?
A She has to void frequently.
B She is tired and wants to sleep all the time.
c She reports that her finger rings have become tight, and that her face and ankles have increased in width.
D Although she has not vomited, she feels nauseated most of the time.
E None of the above
Correct Answer C

Marks 1



24 Question Description When caring for a client following a mastectomy, the nurse is positioning the affected arm. Which question is the MOST

appropriate to ask?

A Does it hurt?
B Doesn’t that feel good?
c How does that feel?
D That doesn’t feel bad, does it?
E None of the above
Correct Answer C
Marks 1
25 Question Description Bacterial diarhoea is caused by:
A Shigella
B Salmonella
c E coli
D all of above
E None of the above
Correct Answer D

Marks 1



26 Question Description Wilm's tumor is a tumor:

A Hepatic
B Cerebral
c Testicular
D Renal
E None of the above
Correct Answer D
Marks 1
27 Question Description Which heavy metal poisoning is commonest in the world
A Mercury
B Arsenic
c Lead
D Arsenic
E None of the above
Correct Answer C

Marks 1



28 Question Description National Vector Borne Diseases Control Program includes prevention and control of following diseases except......

A Dengue
B Filariasis
c Leprosy
D Japanese Encephelitis
E None of the above
Correct Answer C
Marks 1

29 Question Description Emotional behavior is controlled by:
A Limbic system
B Cerebellum
c Cauda equina
D Pituitary gland
E None of the above
Correct Answer A

Marks 1



30 Question Description The final step of the research process is to:

A Compare the data

B Analyse

c Interpretation

D Utilization of the findings

E None of the above

Correct Answer D

Marks 1

31" Question Description A client is on sodium warfarin therapy. The medication a nurse must ensure is available in the ward when implementing this order

is

A Aminocaproic acid

B Vitamin K

c Potassium chloride

D Protamine sulfate

E None of the above

Correct Answer B

Marks 1



32 Question Description Seema, a third-year BSc nursing student, is required to collect blood from a preschooler admitted to the paediatric ward. Which

action of Seema indicates that she requires further instruction in the skill of preparing a preschooler to undergo a procedure?

A Explains the procedure to the child on a doll just before starting the procedure.
B Asks caregiver to leave the bedside prior to performing the procedure.
c Uses simple, clear words and sentences, encourages child to ask questions and responds.
D Provide child opportunities to help out, choose site and maintain control as much as possible.
E None of the above
Correct Answer B
Marks 1
33 Question Description Anxiety disorders are treated by?
A Antipsychotic medicines
B Anticonvulsant medicines
c Anxiolytic medicines
D Antispasmodic medicines
E None of the above
Correct Answer C

Marks 1



34 Question Description Which one of the following is not a quality of good teacher:

A Good motivator
B Mastery on the subject
c Intolerance
D Leadership
E None of the above
Correct Answer C
Marks 1
35 Question Description A student nurse has identified “disturbed thought processes related to difficulty concentrating, secondary to flight of ideas” as a

nursing diagnosis for a client with a bipolar disorder who is exhibiting manic behavior. Which objective outcome criteria should the

student include in her nursing care plan?

A The client speaks in coherent sentences.

B The client verbalizes feelings directly during treatment.
c The client verbalizes a positive “self” statement.

D The client reports feelings calmer.

E None of the above

Correct Answer A

Marks 1



36 Question Description Which instruction regarding self-testicular examination is appropriate for a nurse to give a 20-year-old male client?

A Best done before a bath.
B Examine both testicles simultaneously so one can be compared to the other.
c There may normally be what feels like a small bump on the upper or middle outer side of the testis.
D If one testicle appears larger than the other, see your physician immediately.
E None of the above
Correct Answer C
Marks 1
37 Question Description During a dressing change, the client states, “My wife was really upset last night when she came to visit.” The nurse says, “Your

wound looks good this morning.” The nurse’s response is an example of

A Minimizing.

B Rushing.

c Giving false reassurance.
D Changing the subject

E None of the above
Correct Answer D

Marks 1



38 Question Description Which statement should the nurse make when communicating with a client who is experiencing auditory hallucinations?

A “My sister has the same diagnosis as you and she also hears voices.”
B “Turn up the radio so that the voices are muted.”
c “I understand that the voices seem real to you, but I do not hear any voices.”
D ‘I wouldn’t worry about these voices. The medication will make them disappear.”
E None of the above
Correct Answer C
Marks 1
39 Question Description Implied consent is required in :
A In an emergency situations
B Routine surgical operations
c When patient is not a major
D Prefered by Surgeon
E None of the above
Correct Answer A

Marks 1



40" Question Description At 20-weeks gestation, a pregnant woman is diagnosed with polyhydramnios. Which assessment finding contributed to this

diagnosis?
A Voids frequently.
B Blood pressure is 148/86 mm of Hg.
c Quickening has not been noted.
D The fundus is two fingerbreadths above the umbilicus.
E None of the above
Correct Answer D
Marks 1
41 Question Description During a nurse-client interaction, which nursing statement may belittle the client’s feelings and concerns?
A “You appear anxious and tense.”
B “Don’t worry. Everything will be alright.”
c “You are jumping to conclusions.”
D “I notice your hands are trembling.”
E None of the above
Correct Answer B

Marks 1



42 Question Description A mother and her infant are being discharged from the hospital on the third post-delivery day. Which statement indicates that the

mother has the correct information about breast-feeding?

A “Six to eight wet diapers indicate my baby is getting enough milk.”
B “I need to limit my fluid intake so that [ won’t dilute my breast milk.”
c “I can feed formula from a bottle during nights until my milk is produced in sufficient quantities.”
D “I will be satisfied if I hear audible sucking sounds when my baby breast feeds.”
E None of the above
Correct Answer A
Marks 1
43 Question Description The tutor explains to a the student nurse that client’s behaviors are sometimes acquired through conditioning. The tutor bases her

statement on the theory named

A Cognitive theory.

B Interpersonal theory.
c Behavioural theory.

D Psychoanalytic theory.
E None of the above
Correct Answer C

Marks 1



44 Question Description Which statement made by a client about self-breast examination indicates the need for health teaching?

A “I palpate my breast carefully each month while standing in front of a mirror so I can see any changes in the contour or appearance
of the skin.”
B “I use the finger pads of the three middle fingers of each hand to palpate my breasts.”
c “I use an up-and-down pattern of palpation on my breast and go all the way up until I reach my collar bone.”
D “I press lightly, then with medium pressure, and lastly with firm pressure on each area of my breast.”
E None of the above
Correct Answer A
Marks 1
45 Question Description An example of a primary source in a research study is a
A Published commentary on the findings of another study.
B Doctoral dissertation that critiques all research in the area of study.
c Textbook on the area of study.
D Journal article about a study that used large, previously unpublished databases generated by the census.
E None of the above
Correct Answer D

Marks 1



46 Question Description Which response is appropriate when conversing with someone whom you suspect is feeling suicidal?

A “You should focus on your family. They need you.”
B “Don’t you know it’s a sin to kill yourself?”
c “Are you thinking about committing suicide?”
D “I don’t any reason for you to feel so hopeless?”
E None of the above
Correct Answer C
Marks 1
47 Question Description Which feature is NOT part of the WIFS programme of the Ministry of Health and Family Welfare?
A Is a community-based intervention for students enrolled in class VI-XII.
B Target group are school-going adolescents (boys and girls) as well as “out of school” girls.
c Includes all government, government-aided, municipal and private schools.
D Involves supervised administration of weekly iron and folic acid
E None of the above
Correct Answer C

Marks 1



48

Question Description

A

Correct Answer

Marks

Which is an example of tertiary prevention?
Immunization of children against measles.
Physiotherapy for a client with stroke.
Teaching about birth control.

Screening for hypertension.

None of the above



49 Question Description Three-year-old Jim’s mother tells the community health nurse that Jim is constantly defiant and has temper tantrums. Which is the

MOST appropriate response to Jim’s mother?

A Punish Jim every time he says “no” to change the behavior.

B Allow the behaviour because this is normal at this age period.
c Explain to Jim why certain behaviours are unacceptable.

D Ignore Jim when the behaviour occurs.

E None of the above

Correct Answer C

Marks 1



50 Question Description

A

Correct Answer

Marks

Radical mastectomy in breast cancer is:

Removal of breast lump

Removal of entire breast with axillary lymph nodes
Wide local excision of lump

Radical axillary lymphadenectomy

None of the above



51

52

Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the following:

Direct taxes can be graded, not only by taking into account the size of a person’s income, but also considering the use he makes of it
and making suitable allowances. The proportion of taxable income may be reduced by allowances for expenses incurred on behalf
of children of school age or dependent relatives or for money spent on insurance. Such a system of grading is not possible in case of
indirect taxation. When you go to the cinema, the man who takes your money does not ask you how much you earn, calculate the
tax incurred and charge you accordingly. So that indirect taxation is the same for all sectors of community, rich and poor alike. A
drawback is that the burden of taxation on small incomes is increased, since the obvious things to tax are those for which there is a
constant pronounced demand so as to make them almost necessities.

The levels of direct tax are decided on the basis of

allowances for expenses on children, dependents and insurance

differing expenditure of the rich and poor

the size of a person’s income

actual income, its use and appropriate allowances

None of the above



Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the following:

Direct taxes can be graded, not only by taking into account the size of a person’s income, but also considering the use he makes of it
and making suitable allowances. The proportion of taxable income may be reduced by allowances for expenses incurred on behalf
of children of school age or dependent relatives or for money spent on insurance. Such a system of grading is not possible in case of
indirect taxation. When you go to the cinema, the man who takes your money does not ask you how much you earn, calculate the
tax incurred and charge you accordingly. So that indirect taxation is the same for all sectors of community, rich and poor alike. A
drawback is that the burden of taxation on small incomes is increased, since the obvious things to tax are those for which there is a

constant pronounced demand so as to make them almost necessities.

Read the following statements and arrange them in the sequence of the points in the above passage:

(DA shortcoming of indirect taxation is that it does not permit grading. (ii)This happens in case of direct taxes.(iii)In
calculating the tax, the proportion of taxable income may be reduced by allowances for various permissible expenses
incurred. (iv) This type of tax is same across the board.

(iii); (ii); (i); (iv)
(i); (ii); (iii); (iv)
(iii); (iv); (ib); (i)
(i); (iv); (ii); (i)
None of the above

A
1



53 Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the following:

Direct taxes can be graded, not only by taking into account the size of a person’s income, but also considering the use he makes of it
and making suitable allowances. The proportion of taxable income may be reduced by allowances for expenses incurred on behalf
of children of school age or dependent relatives or for money spent on insurance. Such a system of grading is not possible in case of
indirect taxation. When you go to the cinema, the man who takes your money does not ask you how much you earn, calculate the
tax incurred and charge you accordingly. So that indirect taxation is the same for all sectors of community, rich and poor alike. A
drawback is that the burden of taxation on small incomes is increased, since the obvious things to tax are those for which there is a

constant pronounced demand so as to make them almost necessities.

Read the following statements and state whether they are true or false:

(i) In case of indirect taxation obvious taxable things are most in demand and are necessarily consumed by all, including
the small income groups.

(ii) The direct outcome of this is that same tax gets charged from every level of taxpayer including those belonging to
the small income groups.

(i) is true; (ii) is false

both (i) and (ii) are true

(ii) is true; (i) is false

both (i) and (ii) are false

None of the above



54

55

Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the following:

Direct taxes can be graded, not only by taking into account the size of a person’s income, but also considering the use he makes of it
and making suitable allowances. The proportion of taxable income may be reduced by allowances for expenses incurred on behalf
of children of school age or dependent relatives or for money spent on insurance. Such a system of grading is not possible in case of
indirect taxation. When you go to the cinema, the man who takes your money does not ask you how much you earn, calculate the
tax incurred and charge you accordingly. So that indirect taxation is the same for all sectors of community, rich and poor alike. A
drawback is that the burden of taxation on small incomes is increased, since the obvious things to tax are those for which there is a

constant pronounced demand so as to make them almost necessities.

From the alternatives provided below, identify the one which best signifies “taking into account” or “consider” in the
sense they are used in the passage

be thoughtful

pay scant attention

think carefully about

look without paying attention

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the following:

Direct taxes can be graded, not only by taking into account the size of a person’s income, but also considering the use he makes of it
and making suitable allowances. The proportion of taxable income may be reduced by allowances for expenses incurred on behalf
of children of school age or dependent relatives or for money spent on insurance. Such a system of grading is not possible in case of
indirect taxation. When you go to the cinema, the man who takes your money does not ask you how much you earn, calculate the
tax incurred and charge you accordingly. So that indirect taxation is the same for all sectors of community, rich and poor alike. A
drawback is that the burden of taxation on small incomes is increased, since the obvious things to tax are those for which there is a

constant pronounced demand so as to make them almost necessities.

Identify the word or phrase from following options that means ‘pronounced’, as used in the passage.
uttered in words

constantly uttered

obviously spoken

very noticeable

None of the above



56 Question Description The Government of India has made it mandatory for the telecom companies to store international calls, satellite phone calls, conference calls and messages

for a minimum period of how many years?

A 2
B 1
c 3
D 5
E None of the above
Correct Answer A
Marks 1
57 Question Description Which state has announced the formation of 13 new districts recently?
A Uttar Pradesh
B Andhra Pradesh
C Rajasthan
D Telangana
E None of the above
Correct Answer B

Marks 1



58 Question Description Who has been crowned the Formula One World Champion 2021?

A Lewis Hamilton
B C. Sainz Jr.
(9 Max Verstappen
D Fernando Alonso
E None of the above
Correct Answer C
Marks 1

59 Question Description Who among the following was crowned as ‘Mrs World 2022°?
A Shaylyn Ford
B Kate Schneider
C DebanjaliKamstra
D Navneet Kaur
E None of the above
Correct Answer A

Marks 1



60 Question Description The gas usually filled in the electric bulb is

A nitrogen
B hydrogen
(9 carbon dioxide
D oxygen
E None of the above
Correct Answer A
Marks 1
61 Question Description Indian Women's Hockey Team won which position in the Asia Cup 2022?
A ond
B 3rd
Cc 15t
D 4th
E None of the above
Correct Answer B

Marks 1



62 Question Description Recently Tata Power Renewable Energy Limited (TPREL) has commissioned two Solar Power projects of 100 MW in which state?

A Gujarat
B Jharkhand
C Uttar Pradesh
D Andhra Pradesh
E None of the above
Correct Answer C
Marks 1
63 Question Description National Organ Donation Day was recently observed on which date?
A November 25
B November 26
(] November 27
D November 28
E None of the above
Correct Answer Cc

Marks 1



64 Question Description According to NITI Aayog’s 1st National Multidimensional Poverty Index (MPI) 2021, which state has lowest poverty?

A Tamil Nadu
B Assam
(] Gujarat
D Himachal Pradesh
E None of the above
Correct Answer E
Marks 1

65 Question Description Ashneer Grover is the co-founder of which among the following companies?
A BharatPe
B Paytm
C PayPal
D Global66
E None of the above
Correct Answer A

Marks 1



66 Question Description Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku. Vicky has two daughters and one son.
Unni has only one son and one daughter. Micky is the only sibling of Wiku. Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family.

Riku is granddaughter of Akku, who is married to Wiku. Unni and Vicky are sons in law of Wiku.

How is Wiku related to Donu?

A Father

B Mother

C Grandfather

D Can't be determined
E None of the above
Correct Answer D

Marks 1



67 Question Description Study the following questions carefully and choose the right answer:
Statement: A part from the entertainment value of television, its educational value cannot be ignored.
Assumptions:

I. People take television to be a means of entertainment only.

II. The educational value of television in not realised properly

A if only assumption I is implicit
B if only assumption II is implicit
Cc if either I or II is implicit

D if both I and II are implicit

E None of the above

Correct Answer D

Marks 1



68 Question Description Two trains are moving in the opposite direction and their speeds are in the ratio of 2 : 1. If the first train crosses a standing man in 5 sec and another train

crosses the same man in 8 sec, then determine the time taken by trains to cross each other.

A 6 sec

B 3 sec

(9 5 sec

D 9 sec

E None of the above
Correct Answer A

Marks 1



69 Question Description Study the following numbers carefully and answer the questions given below:
5836 7469 8251 6293 4172

If the digits of all the numbers are to be arranged in ascending order within the number from right to left then the numbers thus formed are to be arranged in

descending order from left to right then what would be the sum of second digit of third number from left end and third digit of fourth number from right end?

A 12

B 10

Cc 7

D 9

E None of the above
Correct Answer D

Marks 1



70 Question Description The age of Sitamma 10 years ago was thrice the age of Radha. 10 years hence, Sitamma’s age will be twice that of Radha. What is the ratio of their present

age?
A 7:3
B 3:1
C 2:1
D 1:5
E None of the above
Correct Answer A

Marks 1



71 Question Description In each question below is given a statement followed by courses of action numbered I and II. You have to assume everything in the statement to be true, then
decide which of the three given suggested courses of action logically follows for pursuing.
Statement: It is necessary to adopt suitable measures to prevent repetition of bad debts by learning from the past experiences of mounting non-performing
assets of banks.

Courses of action:

I. Before granting loan to customers their eligibility for loan should be evaluated strictly.

II. To ensure the payment of instalments of loan, the work, for which loan was granted, should be supervised minutely on regular basis.

A Only I follows

B Only II follows

C Either I or II follows
D Both I and II follow
E None of the above
Correct Answer D

Marks 1



72 Question Description Study the following questions carefully and choose the right answer:
Statement: Postal rates have been increased to meet the deficit.
Assumptions:

|. The present rates are very low.

Il. If the rates are not increased, the deficit cannot be met.

A if only assumption I is implicit
B if only assumption II is implicit
Cc if either I or II is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer B

Marks 1



73 Question Description Directions: A mirror is placed on the line MN, and then which of the Answer Figures is the right image of the given Question Figure

M
W E
N
A
B
C
Al Vi
D
AN
E None of the above
Correct Answer D

Marks 1



74 Question Description In each question below is given a statement followed by courses of action numbered I and II. You have to assume everything in the statement to be true, then

decide which of the three given suggested courses of action logically follows for pursuing.

Statement: Due to substantial reduction in fares by different airline services, large number of passengers so far travelling by upper classes in trains have
switched over to airline services.
Courses of action:

I. The railways should immediately reduce the fare structure of the upper classes substantially to retain its passengers.

II. The railways should reduce the capacity of upper classes in all the trains to avoid loss.

A Only I follows

B Only II follows

C Either I or II follows

D Neither I nor II follows
E None of the above
Correct Answer A

Marks 1



75 Question Description

Correct Answer

Marks

Rani, Supriya and Amita work on a project. If each of them is of a different efficiency. Who is the fastest worker among them?
Statement I : Rani and Supriya take 5 days to complete the project while Supriya and Amita take 10 days to complete the same project.
Statement II : Rani and Amita take 30/7 days to complete the project.

If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is not sufficient to answer the question

If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is not sufficient to answer the question

If the data either in statement I alone or in statement II alone is sufficient to answer the question

If the data in both statements I and II together are necessary to answer the question

None of the above



